
Name: 

Class 

Teac cher 's S1gnature: 
Date 

A. Solve. 

1. 14 kg 275 g 
+ 980 g+ 18 kg 435 g 

1. 
+ 11 m 60 cm 2 m 18 cm 

2. 9 m 
45 cm 

+ 

3, 
200 L 900 mLt 5 65 mL 18 L 895 mL 

4. 62 g 
975 

mg-48 g 883 mg 

5, 315 km 135 m- 253 km 208 mn 

6. 700 L 245 
mL-499 L 648 mL 

dom SIms. 



A. Tick (v) the correct option. 

1. The width of a playground is 23 m. How many 
centimetres

is that? 

d. 23 cm 

a. 230 cm h 2300 cm e 23000 em 

Amat walks for 9S.000 m. How many kilometres Is that 

e. 9.5 knm d. 9500 km 
a. 95 km b.950 km 

3. 1kLis equal to 

d. 10000 L 1000 a 10 L b. 100 K. 

B. Express the following in metres. 

1.7 km 45 m 2 9 km 
3. 18 km 

4. S8 km SS m 5.9 km 255 m 

C. Change to kilograms and grams. 
1. 2485 g 2. 8432 g 3. 5112 g 

4. 2222 g 
5. 1446 g 

D. Express the fn 
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